
MSP-740-V01

Basketball
EXIT Comet Portable Basket



EXIT Comet Portable Basket

1MSP-740-V01



1

4

9

12

2

5

7

10

13

3

6

11

14

7 8

69.46.80.16 2x 69.46.80.11 2x 46.65.10.01 2-3 1x

69.46.80.01 1x 69.46.80.02 1x 69.46.80.03 1x

69.46.80.04 1x 69.46.80.05 1x

69.46.80.13 1x 46.50.90.00 1x

69.46.80.06 2x

69.46.80.20 1x 69.46.90.05 1x 69.46.73.00 2x

2MSP-740-V01

Basketball
        EXIT Comet Portable Basket



43

M8X80 2X

24

M8X55 2X

34

M8 2X

20

32

M8 2X

69.46.71.00 5x

69.46.90.34 2x

69.46.72.00-1

15 16 17

18 19

95
kg

(5
x1

9k
g)

69.46.80.00 1x 69.46.80.17 2x

69.46.70.00 1x

69.46.80.10 1x

3MSP-740-V01



Hardware Blister Pack (C8502000020)

21 22

23 24

25 28

26

27

M6X30 4X M6X85 1X

M8X45 4X M8X55 2X

M8X75 2X M10X45 4X

M8X85 6X

M8X90 2X

69.46.72.00-2 

4MSP-740-V01

Basketball
        EXIT Comet Portable Basket



Hardware Blister Pack (C8502000020)

29

30

34

37

40

M10X95 1X

M10X100 2X

M8 4X

38

M8 6X

39

M10 4X

M8 6X

41

M10 1X

42

ST4X12 4X

31 32

M6 5X M8 10X

33

M10 2X

M8 8X

35

M4 4X

36

M10 6X

69.46.72.00-2 

           

5MSP-740-V01



10

2

42

35

11

1

Part.Nr. Qty
2 1

10 2

Part.Nr. Qty
1 1

11 2

42

35

ST4X12 4X

M4 4X

HARDWARE NEEDED

6MSP-740-V01

Basketball
        EXIT Comet Portable Basket



27

27

34

34

32
34

34

32

1

2

25

25

Part.Nr. Qty
1 1

2 1

25

M8X75 2X

27

M8X90 2X

34

32

M8 8X

M8 4X

HARDWARE NEEDED

7MSP-740-V01



9

30

33

9

6

30

M10X100 2X

33 M10 2X
Part.Nr. Qty
6 2

9 2

HARDWARE NEEDED

8MSP-740-V01

Basketball
        EXIT Comet Portable Basket



5

28

39

36

Part.Nr. Qty
5 1

HARDWARE NEEDED

28

M10X45 4X

39 M10 4X

36

M10 4X

9MSP-740-V01



5

15

15

16

16

29

36

24

32

36 41
24

M8X55 2X

29 M10X95 1X

41

32 M8 2X

36 M10 2X M10 1X

Part.Nr. Qty
15 1

16 1

HARDWARE NEEDED

10MSP-740-V01

Basketball
        EXIT Comet Portable Basket



4

3

26

26

38

38

40

40

26 M8X85 3X

3840 M8 3X M8 3X
Part.Nr. Qty
4 1

3 1

HARDWARE NEEDED

11MSP-740-V01



13

7

8

12

7

32

23

37

A.

C.

B.

D.

32

HARDWARE NEEDED

23

M8X45 4X

37

M8 4X M8 4X

Part.Nr. Qty
7 1

8

12

13

1

1

1

12MSP-740-V01

Basketball
        EXIT Comet Portable Basket



12

3

22

31

31 M6 1X

HARDWARE NEEDED

22

M6X85 1X

13MSP-740-V01



5

4

26

38
40

26 M8X85 3X

3840 M8 3X M8 3X

HARDWARE NEEDED

14MSP-740-V01

Basketball
        EXIT Comet Portable Basket



24

34

32

20

Part.Nr. Qty
20 2

HARDWARE NEEDED

24

M8X55 2X

34

32

M8 2X

M8 2X

15MSP-740-V01



φ12.5mm
h>50mm

20

16MSP-740-V01

Basketball
        EXIT Comet Portable Basket



20

20

43

20

17MSP-740-V01



17

17

1

18

21

31

Part.Nr. Qty
17 2

18 1

HARDWARE NEEDED

21

M6X30 4X M6 4X

31

18MSP-740-V01

Basketball
        EXIT Comet Portable Basket



19

95kg
(5 x 19kg)

Part.Nr. Qty
19 5

19MSP-740-V01



20MSP-740-V01

Basketball
        EXIT Comet Portable Basket



21MSP-740-V01



22MSP-740-V01

Basketball
        EXIT Comet Portable Basket




